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(1)Java #2;%
static void testl(){
int n;
int [] x = new 1nt[n];

}
(2)Java #2 3\
static void test2(){
int n=0;
int [] x = new 1int[n];
}
(3)Java #2 ;%
static void test3(){
int n=0;
int [] x = new 1nt[n];
x[0]=0;
}
(4)C++425%
voild testd(){
int n;
int x[n];
]
(5)C++£7 51
voild testS5(){
int n=0;
int x[n];
x[0] =0;
]
(6)C++4z5%
void test6(){
int n=0;
int *Xx = new 1nt[n];
x[0] =0;
}
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@73 - MySort # %] 07 2 int[] binarySort(int data[]) » - 7)) data oo
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@Test
public void testBinarySort(MySort (1) ){
int[] source = {2, 3, 5, 9, 12, 7};
int[] target = obj.binarySort(source);
for(int 1=0; i<source.length-1; 1++){
assertTrue(target[i] < (11D );

}
}
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(M3i$ 41 Customer, StockTrade # #& - (10 & )

CREATE TABLE Customer ( )i
CREATE TABLE StockTrade ( ;
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d611m1ter $$
CREATE PROCEDURE x()

BEGIN
DECLARE 1 INT DEFAULT 1;

END$$
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Exception:empty
Exception:not a number

Quotient:Exception:divided by zero
Quotient:2.4

#include <i1ostream>

#include <exception>

#include <string.h>

#define N 10

using namespace std;

class EmptyException:public exception {

public:
virtual const char* what()const throw(){
() ;
}
1
class NotNumberException:public exception {
public:
virtual const char* what()const throw(){
(1) ;
}
1
class DividedByZeroException:public exception {
public:
virtual const char* what()const throw(){
(1I) ;
}
1

int valid(const char x[N]){
int result=0;
1f(strlen(x)==0)throw EmptyException();
for(int 1=0; i1<strlen(x); 1++){

1f(lisdigit(x[1]))
throw NotNumberException();
result = (IV)

>

}

return result;
} double quotient(int nl, int n2){
1( (V) )
throw DividedByZeroException();
return static cast<double>(nl/n2);
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void test(const char x1[N], const char x2[N]){

int nl, n2;

try {
nl=valid(x1);
n2=valid(x2);
cout<<"Quotient:"<<quotient(nl, n2);

}

catch(EmptyException &e){
cout<<"Exception:"<< e.what();

}

catch(NotNumberException &e){
cout<<"Exception:"<< e.what();

}

catch(DividedByZeroException &e){
cout<<"Exception:"<< e.what();

}

cout<<endl ;

}

int main(){
test(””,””);
test(”a”,”l?,”);
test(”lo""’o");
test(ulzu,usu);
return 0;

}
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